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Abstract

Teleconference Minutes for Task Group K.
Detailed minutes follow:

Wednesday, August 18, 2004 – 8:30 AM Pacific
1. Chair calls the conference call to order at 8:30 AM
2. Attendance Paine, Gray, Klein, Olson, Kwak
3. Review of Letter Ballot Comment Resolution  964r0
4. We have received 59 votes so far with 2 no votes

5. Comment Review
Comment #1 – Clause 7.3.2.26– Housley
Problem - Page 29, Lines 29 and 30.  I think that pointing to 802.11F is a mistake.  I recognize that an other alternative is being suggested as well, but advocating the deployment of 802.11F is not desirable.
Remedy – Eliminate reference to 802.11F.
Comment – it is part of the standard now.
Resolution – none
Comment #2 – Clause All – Housley
Problem - 802.11k very helpful to a STA in selecting the next access point to which it will associate.  However, 802.11k messages are subject to forgery.  A mechanism for authentication and integrity is needed.
Remedy - Specify a mechanism for authentication and integrity protection.
Resolution – none 
Comment #3 – Clause 5.4.4.1 – Lanzl
Problem - The TPC service's main purpose is to ensure that the requirements of ERC/DEC(99)23 are met.  It may have a secondary use of measurement of the link path loss and link margin.
Remedy – Change the underlined text on lines 30-31 to read: "The transmit power control (TPC) service may be used in both the 2.4GHz and 5GHz bands for the purpose of radio measurement of link path loss and link margin."
Comment – it seems like we could accept this
Resolution – none – 
Comment #4 – Clause 7.3.2.21.6 – Lanzl
Problem - This request requires any participating STA to return data on both the RSSI and RCPI.  This theme is repeated throughout the 802.11k draft 1.0 document.  The requested (and reported) data is redundant: the RSSI measurements clearly are a subset of the RCPI measurements.   Asking for and transferring both sets of information is a poor use of network bandwidth.   I could perhaps understand reporting RSSI for legacy STA, as they may currently have no provision for RCPI, but then the draft should state that the STA has the option of either RSSI or RCPI depending on which it supports.   I do not subscribe to the theory that the combination of RSSI and RCPI provides some measure of signal quality, for example as stated in 15.4.5.16; this is simply repetition of existing data.    I also realize that RCPI can be generated from RSSI with some sort of calibration factor.  In that case, why not simply report RCPI and be done?
Remedy - Re-structure the entire document to only request and return RCPI, allowing the substitution of RSSI for legacy PHY STA.  
New Remedy – simple statement in the document that states you can use RCPI when available and RSSI on legacy equipment.
Comment – Carl A stated that anyone could get the Xmit power at the antenna.  All chipsets should be able to provide the value.
Comment – we should ping Joe Kwak  
Resolution – none - 
Comment #6 – Clause 7.3.2.21.9 – Lanzl
Problem - Add The state of CCA is either BUSY or IDLE.  There is no need to provide both the CCA BUSY and IDLE histograms as one set of data can be deduced from the other.  
Remedy - Change Remove all references to either the CCA Busy Time Histogram or CCA Idle Time Histogram in the text and table k5. 
Resolution – none – this is a valid comment
Comment #7 – Clause 7.3.2.21.9 - Lanzl
Problem - The threshold values for table k6 do not make sense in the context of the base standard: 5dB steps are the wrong value.  See my comment below concerning 7.3.2.22.5 for the rationale.
Remedy - Rep Change the starting value and steps in table 6 from -87dBm and 5dB to -85dBm and 3dB; so, RCPI threshold of 0 would correspond to -85dBm, 1 would correspond to -82dBm, 2 would correspond to -79dBm, 3 would correspond to -76dBm, 4 would correspond to -73dBm, 5 would correspond to -70dBm and 6 would correspond to -67dBm.  It might also make sense to add the following two threshold values: 7 would correspond to -64dBm and 8 would correspond to -61dBm, leaving thresholds 9-254 reserved and threshold 255 as the table currently reads.
Comment – 3dB should be the step
Resolution – none – valid comment
Comment #8 – Clause 7.3.2.22.6 - Lanzl
Problem - It is not clear in this section that the report should only cover one beacon.  This is hinted in later text.  Without that clarity, it is confusing how to report multiple RCPI, TSF and timestamps in this report. 
Remedy - Add some text clarifying that this beacon report can only apply to one beacon measurement. 
Resolution – none - 
Comment #9 – Clause 7.3.2.22.6 - Lanzl
Problem - It is not clear in this section that the report should only cover one beacon.  This is hinted in later text.  Without that clarity, it is confusing how to report multiple RCPI, TSF and timestamps in this report.
Remedy – Add some text clarifying that this beacon report can only apply to one beacon measurement. 
Comment – if the STA is collecting Beacons or Probe Responses and you receive multiple Beacons or Probe Responses which one do you pick.
Comment – we should address, because it is not addressed in the text.

Comment – The beacon report states that you report one value.

Comment – There are times when you would want RCPI average – the others should report last packet received.  

Resolution – none -
Comment #10 – Clause 7.3.2.22.7 – Lanzl
Problem - It is not clear in this section that the report should only cover one frame.  This is hinted in later text.  Without that clarity, it is confusing how to report multiple RCPI in this report.
Remedy - Add some text clarifying that this beacon report can only apply to one frame measurement.
Comment – the description Cleary states RCPI is defined as an average
Resolution – reject comment – no action needed
Comment #11 – Clause 15.4.5.16.2 - Lanzl
Problem - The text "RCPI indications of 8 bits (221 levels) are supported." is confusing. In fact, RCPI indications of 8 bits are supported and 221 states are assigned to RCPI levels.
Remedy - Change the text to read: "RCPI indications of 8 bits are supported, as defined in 15.4.8.5.
Comment – valid comment
Resolution – none
Comment #12 – Clause 15.4.5.16.4 - Lanzl
Problem – The text states that RCPI may be used in conjunction with RSSI to measure input signal quality. This is confusing in the face of the baseline standard's use of the SQ parameter.      
Remedy – Remove the line reading: "The RCPI may be used in conjunction with RSSI to measure input signal quality."
Comment – probably should be removed.

Comment – It is valid for measurement and does not require and action – it is up to the MAC layer.
Resolution – none
Comment #13 – Clause 15.4.8.5 – Lanzl 
Problem - The definition of assignment of RCPI levels to RCPI indicator bits is sloppy.  Either provide a complete table or some algorithm that fully describes the states with no ambiguity.  
Remedy - Change lines 18-24 to read: "RCPI indicator = int{(received power in dBm +110)*2} for received powers 0dBm or less and where the RCPI indicator of 0 is used for received signal power less than -110dBm.   RCPI indicators 221-254: reserved. RCPI indicator 255: Measurement not available.
Comemnt – he wants a formula over the table  
Comment – we should add the formula and keep the table

Resolution – none – need to review with the entire group
Comment #14 – Clause 17.2.3.5 - Lanzl
Problem – The text "RCPI indications of 8 bits (221 levels) are supported..." is confusing. In fact, RCPI indications of 8 bits are supported and 221 states are assigned to RCPI levels.   
Remedy - Change the text to read: "RCPI indications of 8 bits are supported, as defined in 17.3.10.6.
Comment – this is a valid comment
Resolution – none
Comment #15 – 17.3.10.6- Lanzl

Problem - The definition of assignment of RCPI levels to RCPI indicator bits is sloppy.  Either provide a complete table or some algorithm that fully describes the states with no ambiguity.  
Remedy - Change lines 24-29 on page 56 and line 1 on page 57 to read:  "RCPI indicator = int{(received power in dBm +110)*2} for received powers 0dBm or less and where the RCPI indicator of 0 is used for received signal power less than -110dBm.   RCPI indicators 221-254: reserved. RCPI indicator 255: Measurement not available.
Resolution – none
Comment #16 – Clause 17.5.5.8.2 – Lanzl
Problem - The text "RCPI indications of 8 bits (221 levels) are supported..." is confusing. In fact, RCPI indications of 8 bits are supported and 221 states are assigned to RCPI levels.    
Remedy - Change the text to read: "RCPI indications of 8 bits are supported, as defined in 17.3.10.6.
Resolution - none
6. Conference call ends 9:26 AM.
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